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Numeric Answer

1.5 m TITICF AT =2 Iq199 IB0 I F=(12t — 3t2) N ATTS1 S
WITERS AICATS (NN 2 (t-(F OTR0S NI 2¥) | e oese Meoess

Question: SIfeTR GIO®] AN 4.5 ke m?2l RNTOYI 2117 05T oW, A 57 99
YT % FEAK-GINH |

Topic: Physics-Section B

Item No: 60

Question ID: 11694060

Question Type:

Numeric Answer

m OUIF AHI0 991 5 Wl GNA (BRI 241 2 m SR WHNT JF(0 I

Question: \OeTH (FUTR Y 6 (HFIT SATA (RO 27| BTG Ie12 AH2 TN 41T X[
| I A0 WGro SO AFATS IEFCA XS |

Topic: Chemistry-Section A

Item No: 61

Question ID: 11694061

Question Type: | MCQ




D 2[CJ(FITGE 250 g GRAr TALT SR ©F =TSSR AT 10.8%| I3

Question: A (VARG ((Rebwy 12 7w B o)
(S ANFNTE ST - H.1:C.12:0.16)

A: 1.03

B: 2.06

C: 3.09

D: 5.40

Topic: Chemistry-Section A

Iltem No: 62

Question ID: | 11694062

Question Type: | MCQ
e 123G R3fe mewr =1
A3 1: 0,. Cu?™. F*~ (H1FF (5F g Q11 YHOIE WH¥G B 498 (HIFF

Question: (3P0 STH-DINS AL ﬁﬁi 56 = % s
[431% I1: NaCl. H,0 (515F (Hlad [RH91 WGy JIeid pE<es 23|
SHHA [A30afeTd SIANS Wb ome [FgefEs W A% el
bizw 54|

A: f33f® 1 93¢ K91 11 w3z S|

B: 73 1 432 {91 11 w32 el

C: f53fs 1 5. g Refs 1w

D: s 171, g Rgfo 1

Topic: Chemistry-Section A

Item No: 63

Question ID: 11694063

Question Type: | MCQ

Nt eme fAgfeefea 9T 7k A 993 wro@f Ife R w091 fofzs -
gﬁéa; AT 2s T QAT TROGIGH AIAF 25 FHH *&F
|

Question: & R: AANENRE FLW Iad A0 A2 GHFS (GATH)- I FI(HA
*f& B A
BHFA (A0t SANS WH ome [Sg e i Jds Geaib
bfZw F4

A A 95 R TONE o] I R, A-JF S5 74Tl

B: A 498 R \SONE M) 478 R, A-49 HHH A1 (=

C: A 3791, 5@ R ©79)l




D: A Oe), fFE R 5@
Topic: Chemistry-Section A
Item No: 64

Question ID: 11694064

Question Type: | MCQ

fH ome RYFoafm a6 7R A 932 W9R0 I& R T HiTs -
AR A: CH,-9 ST AT SIS (I TFSE SH SO,

WIS Sl

Question: I[F R: Y TEL O [ S FFade FoSTe J1a T=2062
wigTnEe =3
SHNHA Ao WA WiH ome RSg e 2200 SR O TS
@\5 q @ i@l%m Fodl

A: A 495 R GwU2 NeJ 492 R, A-IF AHF 147

B: A 493 R BO¥E 3T 493 R, A-I9 AHS 14T (=

C: A Y@l [Fg R =@l

D: A O5e), @ R 5@

Topic: Chemistry-Section A

Item No: 65

Question ID: 11694065

Question Type: | MCQ

10 LRI AIRT ‘A9 2% GElld G STEOAE, ST JBI0 Tyl

Question: T ‘B’ —Ad 8% GelN G STEOALEF |
A 498 B-A9 WIS ST~ YT B0 226
A: I\"IA — —IMB
C: ]I.k‘-"j:‘_tfl — SMB
D: I\’IB — BMA
Topic: Chemistry-Section A
Item No: 66
Question ID: 11694066
Question Type: | MCQ
Question: Wlag SICEGE
A K-EIF Y TN 9y {&?ﬂmﬁ} Na 495 Li-49 63 22O F|
B: Xe- AT ST WTTNIN IV B2F (AT FATHH SN |




ATTAT[E FLLT 37 TN (T AU WTTATA JNAA(S AT

C:
ST 38 AN (N1 ORI 22(® S|

D ARV ST 30 579 -7 ClIeT SICEH Ga-I7 ALY SR
AN =]

Topic: Chemistry-Section A

Item No: 67

Question ID: 11694067

Question Type: | MCQ

fTER (B @O0 (FIAT 4G N IS Z AL
A, SFATAY

B. THIBAT
Question: C. E@% farerger
D. feifes
E. ¥roN
e [Regafe (1S SioF Ted 6T 31
A (PGTN[EG B 448 D
B: (PFITNIG A, B, D J<4S E
C: (TN B. D U4 E
D: (RN A C U4 E
Topic: Chemistry-Section A
Item No: 68
Question ID: 11694068
Question Type: | MCQ
ﬁw@%ﬁ@% CH&3T 26T

316 1. WEF S SFAT TON WAL 2GNGH NITAHZG GIFH
2R F16 S

Question: [0S 11: 208 K ST AT RIGTGH ATHHRGT T79g D,0 — I8 T99
W{HSF S|
SAAA [[IYMOSETT CANLSE [MTH e [RFg e N 3ids Sedib
fofzs w4

A: 73 1 93¢ K91 11 SR B

B: fgfe 1 433 s 11 3R gl

o 3o 1 <. g [Rfe 1wl

D: f43f% 1 971, 3 g 1 o

Topic: Chemistry-Section A




Iltem No: 69
Question ID: 11694069
Question Type: | MCQ
s 726 f[3fS ewr =1

fJ3(S I Be 93¢ Al-IT (FAIRGSET 5157 CI-CTQIHA (Cl-bridged) SF
A93 BwT3 (G4 TS A147 8 7aN SHd RIAE S0 Fd|

Question: {31 I1: Be 98 Al- A RS F20WBE ATSHT HALF FA9O 2T
(IFTEAG & W NAG A (7l
SAAA RO ST ALSE [MTH e [y el 230s 5% Sedlt
fofze w4

A: 73 1 93¢ K91 11 SR B

B: 73 1 93¢ K91 11 w3z el

C: 3o 1 <. g [Rfe 1wl

D: I3 1 91, (9@ 9o 1 B

Topic: Chemistry-Section A

Iltem No: 70

Question ID: 11694070

Question Type: | MCQ

THFAE (B WCHANHOGT IATH S ALTHS AT ({5 AL TH

Question: Eﬁ ORI ST
A: HATRATEHFAN SOIG
B: FRATEAF RS TG
C: TS AITG
D: HARATEHF AP ST
Topic: Chemistry-Section A
Item No: 71
Question ID: 11694071
Question Type: | MCQ
fte 726 Ao crem wmg -
31 1. R (111) WRFS K,Cr,05 G978 2T KMnO,, T FIRNONI I
Question: 22O I, G 35l
ﬁ@%[[: WITHICNG ST AR ﬁqi—[_\:ﬁfﬂaﬁ ?—ETPTPHW|
GNAR [gMoafera W NiH ome [y ot 2306 S Gedls
fbiz® %
A: 431% 1 933 J3f@ 11 GoNZ A5FI




B: 431 1.93¢ 9o 11 SOz =
C: f33fe 1 5, (3 fRgfs 1 =
D: fA3f% 1 971, [ 3o 1 o
Topic: Chemistry-Section A

Item No: 72

Question ID: 11694072

Question Type: | MCQ

Question: Mn, 0 (TS Mn=0 IHATA (G HLLT REA -
A: 4
B 5
C: 6
D 3
Topic: Chemistry-Section A
Item No: 73
Question ID: 11694073
Question Type: | MCQ
SIS I 93 S SIS I (V18 -
SIS 1 SIfeTT 11
= CATST BT

A STECEB (=500 ppm) I (UG- R an=_e=am
Question: B. WIZLEG ( =50 ppm) I1. M@ AT (I =10l

C. (TG (=50 ppb) IIL. (GECAE el

D. TEHI2G (> 2ppm) Iv. lPei=e o

TR 2w Regaf 2300 57oF Teab HiTe 4 -

A: A-TV. B-1. C-II. D-III
B: A-IIL B-1. C-IV. D-II
C: A-II. B-IV. C-I. D-III
D: A-II. B-IV. C-III. D-I
Topic: Chemistry-Section A
Item No: 74
Question ID: 11694074




Question Type:

MCQ

At ome [RQfoafer 96ft Wik A 932 o= Ife R w0et fofzs
'I'Tlﬁ&: [6] TUTTIfeTw, [8] SUT=iei=, FST-[10] STTYeT 49 BIS-[10]
ST TGN SOA N GE, S-S5, SETNbH 478 -

I YIRS

T TR
H
O O G

Question:
[6] Annulene [8] Annulene . [10] =gefisr
If@ R: TN Tol, WITAMTNOF & A-SATAHF ©F-I JHI0
143 @ﬁlﬂwil
SNHA Ao WS Wibd REF @™ N4 TR SIS
@Gﬁ @i@l%\s?ﬁﬂ
A: A 95 R To¥Z 3% 493 R. A-I9 SHF 14T
B: A 493 R 5oz 3% 498 R, A-A9 STHF LU =
C: A 5. g R 9
D: A9, FF RS
Topic: Chemistry-Section A
Item No: 75
Question ID: 11694075
Question Type: | MCQ
CH,OH
. A . Mal
Question: +HCI > A > B
OH
58 A B-0 =&«
CH,I
A:
OH
CH, I
B:
|




CH,CI

C:
OH
CH,CI
D:
|
Topic: Chemistry-Section A
Item No: 76
Question ID: 11694076
Question Type: | MCQ

OIS I 99 Y OIS I (TS -

KIGEIR IGEIRN
*ferarg TG =Ty
A (P 8 FINRGREG 1 &6
@G
B. 13-[9GerGEg @ NI GHED
Question: SBIEfUE STRARTE
C. AEPE 8 AT L. gH1-S
WIH0GE AFTeE
D. 215%e 8 (BIF-2Tlei IV. (P
WG .56
NE ove [Reg el 230 Jiow Gadn biTe 94 .
A: AL, B, CIV DI
B: A-II, B-IIL C-1. D-IV
C: A-II, B-L, C-IIL. D-IV
D: AL, BAL, CIV. DI
Topic: Chemistry-Section A
Item No: 77
Question ID: 11694077
Question Type: | MCQ




Question:

WIS WEET I 1641 X YT 8 (Mo 220 TITEA B8 AN L
85X IRIE (I J0F [T [ T0T 47 950 I8 5 AR

CHH|
*rhar «x-f6 =34 -
A: Wﬁ{‘%‘]@
B: T ) (AR (A e
C: L] GECRCH IR I
D: B4R AE
Topic: Chemistry-Section A
Item No: 78
Question ID: 11694078
Question Type: | MCQ
SIfTHT I — 97 T SIEAHT 11 (1S -
IGEIR
1 HTEE< (e Zserr
OH 11 35 *&g13 OeTTy 550
g3y (qfey T
B.
Question: S I Y
Cl
NHNH, [ (BOAA*EF (AR=d
0 IV, AGAE
I EF T )
L‘\
DI @ NH
s/
27N\
& 0

oty ome fReg el 2are A<+ et bfze o1 -

A-TV, B-IIIL. C-II. D-1

A-IIL B-1. C-I1. D-IV




C: A-IIL B-IV. C-1. D-II
D: AL B-I. C-IV. D-IT
Topic: Chemistry-Section A
Item No: 79

Question ID: 11694079

Question Type: | MCQ

FIEIN AFSUS DIATTGLAI ATV N 0.45 ¢ AT 46 (OR

Question: 97 0.36 g ATV AgBr (I TG (ASMGTS (TR Mo T<E AN
T 1 (AgBr — 97 (79 ©F = 188 g mol™, Br:80)
A: 34.04%
B: 40.04%
C: 36.03%
D: 38.04%
Topic: Chemistry-Section A
Iltem No: 80
Question ID: | 11694080
Question Type: | MCQ
SIS 1 —. 99 AN SIART I (V1S -
IGER SIS II
A @G SECRE [ 2T SN g 2
(PIIIRT
_ B. TP (JTNIEG (a0 I ST GUI 2600
Question:
. FEA S R 111 fRerarsf s
D. TP WeNd | IV WEIHE6E AE6o [
GRS RIE)!
s ome Regefd 23re 5ifoF Gedlt bz $1 .
A: A-IV, B-III, C-II, D-I
B: A-IV, B-II, C-I, D-III
C: A-IIL, B-IV, C-I, D-II
D: A-IV, B-III, C-I, D-II
Topic: Chemistry-Section B
Iltem No: 81
Question ID: 11694081




Question Type:

Numeric Answer

W13 NI Fe?™ BV 10 mL RN <0+ [[IEFAT 20 mL AR

Question: 1y
0.02 M K,Cr,0; B 920 ZCAR| Fe?™ HICTF (NEF0 x 1072M
Topic: Chemistry-Section B
Item No: 82
Question ID: 11694082
Question Type: | Numeric Answer
2NO + 2ZH, — N, + 2H,0
SN AT 800°C SITNIATY FH1 24| G2 5791w w7 W6 (B
ERRETTE
TIF el | 293 A1AES | No-dA Adfes | orafss =g
B9 (kPa) BI¥ (kPa) I
(—dp|
Question: L dt J/kPa =
1 656 40.0 0.135
2 656 20.1 0.033
3 iE6 636 0214
4 192 656 0.106
i ey
NO-TId AT 9l PH 2267
Topic: Chemistry-Section B
Item No: 83
Question ID: 11694083

Question Type:

Numeric Answer

o TR TSfAa N AFHOre AT =], SIRTHE ST ;

Question:
Na,0, KO,. NO,, N,0. C]Clz. NO, 50,. CIED
Topic: Chemistry-Section B
Item No: 84
Question ID: 11694084

Question Type:

Numeric Answer

Question:

A5 W ST a BT (AT 1% U1 20.785 TK L mol ! 32T 300
K SNl 209 500 K SN b I Wrors g Afed Hfihae
5000 JI 5 SIFw= SIGA (e e |

[NFBON I3 4T) (9W8: R = 8.314 TK 'mol )




Topic:

Chemistry-Section B

Item No:

85

Question ID:

11694085

Question Type:

Numeric Answer

SR oS WA/ SIS SHT MO & Pl Wios 394 Nl I

Question: WANTNRN-EIF AT |
CN-, NO*, 0;, 0,F, 0,2F

Topic: Chemistry-Section B

Item No: 86

Question ID: 11694086

Question Type:

Numeric Answer

310 K OIMTE Gled CaF,- 49 ARSI 2.34 « 10~ /100 mL | CaF, —4d

Question: HIATS! @35 % 1078 (mol/L)* |
[W‘Tﬁlﬂﬁﬁ CaF, : 78 g mol™ ]

Topic: Chemistry-Section B

Item No: 87

Question ID: 11694087

Question Type:

Numeric Answer

CoCl3(NH;), HHS K18 AHI0 Giiva (U5 BIH AHI11=@I, 1:1 ©fbg

Question:
RURTETE SO TWEl GG (5B 4rafbd os<s (ArGel |
Topic: Chemistry-Section B
Item No: 88
Question ID: 11694088

Question Type:

Numeric Answer

WIHS NAITN KMnO,; A8 ST SHTGE o1 ([ o

Question:
e S IR YT A dqow |
Topic: Chemistry-Section B
Iltem No: 89
Question ID: 11694089

Question Type:

Numeric Answer

Question:

AfSIREANT AF0 [NV AT A TSI +12.6° (<) WEATIH DA

WCARES 90 +30° | N2 A w7or =2 |




Topic: Chemistry-Section B

Item No: a0

Question ID: 11694090

Question Type: | Numeric Answer

IDIGERGITRIE]
S50 ll OH

Question: @ Oleum @ M(JII'['EXCF:SS'J @

Ry ﬁﬁm =T @Q‘;’ﬁﬁ 60% 3 s fRIGFTIR *ra1s=1 B 27 50%
371 RGP ST =111 B8 R %. [NFBON (5]




